
 

a/4 



 

 

 

 

  7.)       Umfang:  
       Dreieck ist gleichseitig. 

U = UHerzOben + UHerzSeite 

   = 2π*(a/4) + (2π*a*2*(1/6))      //Winkel 60° entspricht 1/6 des 

Kreises 

   = 2π*(a/4) + (2π*a*2*(1/6))     

   = (1/2)πa + (2/3)πa 

   = (7/6)πa 

   = 3,665a 

 

Flächeninhalt: 

A = π(a/4)²  + 2*(1/6)*πa² - (1/2)a²    // Gleichseitiges Dreieck 1x abziehen! 

=(1/16) πa²+(1/3) πa²- (1/2)a² 

= (19/48) πa²-(1/2)a² 

= 0,7435a² 
 

 

  8.)     Strahlensatz anwenden:  1,8m /4,5m = x/25m 

       x = 10m 

  


